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QUESTION 1

Maximo Asset Performance Management (APM) supports which GIS system, for spatial data management?
A. Intergraph/Hexagon Geospatial

B. GE Smallworld

C. ESRI ArcGIS

D. Any GIS which supports the OpenLayers API

Correct Answer: D

QUESTION 2

Which industry solutions are supported for Maximo Anywhere?
A. Calibration, HSE, Oil and Gas, ACM, Aviation, Nuclear

B. HSE, Oil and Gas, ACM, Aviation

C. Calibration, HSE, Oil and Gas, ACM

D. Calibration, HSE, ACM, Transportation, Aviation

Correct Answer: B

QUESTION 3

Which statement is true regarding initial Maximo Enterprise Asset Management (EAM)setup?
A. Locations can exist in more than one system.

B. Multiple Organizations can be linked to a Site.

C. Sets allow Organizations to share Locations.

D. Sites are organized into systems.

Correct Answer: C

QUESTION 4
What does the failure analysis tree in Maximo Asset Performance Management (APM) best represent ?
A. a neural network containing interconnected group of nodes, similar to the vast network of neurons in a brain

B. a chart in which the values of the attributes are plotted along two axes, and the pattern of the resulting points
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revealing any correlations

C. flow-chart and structure where internal node represents an attribute, the branch represents a decision rule, and each
leaf node represents the outcome.

D. structure where an internal node represents an attribute, the branch represents a decision rule, and each leaf node
represents the outcome

Correct Answer: D

QUESTION 5

Which action must be completed to grant new security groups access to Query Based Reports?

A. Add the Security Group to the Report Object Structure Security list in Report Administration.

B. Add the Security Group to the Report Object Structure when assigning Object Structure permissions.
C. Add the User to the Report Object Structure when assigning Object Structure permissions.

D. Add the User to the Report Object Structure Security list in Report Administration.

Correct Answer: D
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